Using Step Functions as Switches

Quiz: What is the equation for the function which agrees with f(t) be-
tween a and b (assume a < b) and is zero outside this window?

Choices:

a) (u(t—"b) —u(t—a))f(t)

b) (u(t—a) —u(t—b))f(t—a)

) (u(t—a)—u(t—"b))f(t)

d) u(t—a)f(t—a)—u(t—=0)f(t—0)

e) none of these

Answer: (c): (u(t —a) —u(t—0))f(t).
The box function u(t —a) — u(t — b) is 1 between a and b and 0 outside it.



MIT OpenCourseWare
http://ocw.mit.edu

18.03SC Differential Equations[]
Fall 2011 O

For information about citing these materials or our Terms of Use, visit: http://ocw.mit.edu/terms.



http://ocw.mit.edu
http://ocw.mit.edu/terms



